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import random
import csv

#IEIE X AR

x =1

#iBthy ER
y=1

#RIE R

test = 1000000
#EABETH
movecount = 100000
fall = @

Falls = []
direct = None

#EERERTE

#data = {'L': 1, 'R': 1, 'D': 1, 'U': 1}
p = 3 #FEMERE

r =100 #HEEFERE

#E BRI IR T A S

def choice():
global direct, value_sum
value_sum = sum{data.values())
t = random.uniform(®, value_sum)
for direct, value in data.items():

t —= value
if t < 0:
break

def walk():
global x, y, fall, movecount, direct
for i in range(@,movecount):

choice()

#print(direct) #ETBIAE

if direct == 'L':
x -=1

elif direct == 'R':
X +=1

elif direct == 'D":
y-—=1

elif direct == 'U";
y +=1

#print(stri(x) + '," + str(y)) #BATEAR

if x x y ==
fall += 1
#print('Move : ' + str(i+l)) #EATITESH
#print('Fall : ' + str(fall)) #ERT RIS RS
break

for i in range(p,p+1): #AH AR ERIBE
fall = @

data = {'L':2,'D':2,'R*: i, 'U': i}
for j in range(@,test):

x=1

y=1

walk()

#EATIE IR
J = j+l
k = int(test / r)
q = int(test / k)
if 1 % k == 0:
print('Progress: {}% '.format(int(J/test*100)),"'(' +str(1) +
'/t #stritest) +')" 'R * (3 // k),end="")
print(*." * (@q - (J// k) ))

Falls.append(fall)

#EHER
for i in range(p,p+1):
data = {'L':2,'D':2,'R": i, 'U': i}
print()
print(data) #ERTBERE
print('Test time :' + str(test))
print('Max Move :' + str(movecount))
print('Fall : ' + str(Falls[i-pl))
print('P = ' + str(Falls[i-p]/test))
print(' '
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